
2023 State Floriculture CDE Problem Solving Practicum (200 points) 

Directions: Use the information given with each problem, along with a calculator and scratch 

paper/work space on packet, to solve each problem (20 points each). Mark your answers on the 

scantron. 

1.Nitrogen recommendations for Wave Petunias calls for 200 ppm. Using the information in the 

table below, how many ounces of water-soluble fertilizer (20-10-20) would be needed per gallon 

of concentrate while using an injector ratio of 1:100? 

 

A. 6.67 oz/gal 

B. 53.3 oz/gal 

C. 18.0 oz/gal 

D. 13.5 oz/gal 

 

 

2. A greenhouse employee is asked by a supervisor to use a 5-gallon backpack sprayer to apply a 

pesticide. This employee is restricted to carrying no more than 50 pounds on their back due to 

doctor’s orders. If the sprayer weighs 13.7 pounds empty, how many gallons of water/pesticide 

mixture can the worker put in the sprayer to equal 50 pounds? Round to the nearest hundredth. 

(One pound of water/pesticide mixture weighs 8.3 pounds) 

A. 5.0 gallons 

B. 4.37 gallons 

C. 3.78 gallons 

D. 3.15 gallons 

 

 

 

 



3.  A greenhouse operator is trying to calculate water usage. The average water pressure in the 

greenhouse is 50 lbs. The greenhouse has a 75-foot water hose that is ½” in diameter. How many 

gallons of water would flow through the hose in 10 minutes? 

 

A. 8.8 gallons 

B. 88 gallons 

C. 70.4 gallons 

D. 7.04 gallons 

 

4. A designer is calculating the number of pansies to be placed in a 10’ x 20’ raised bed. Using 

the chart below, how many pansies would be needed if the entire raised bed was planted on a 10” 

x 10” spacing? 

 

A. 288 

B. 144 

C. 200 

D. None of the above 

 

 



5. A greenhouse contractor is assessing options for covering a new greenhouse. The U-value 

indicates the insulating properties of the material; a high U-value indicates a poor insulator. Of 

the answer choices given, what material offers good insulation and the lowest cost per square 

foot? 

Material U-Value Light 

Transmittance 

Cost per square 

foot 

Glass 1.13 75% $2.31 

Glass, Double Layer 0.65 70% $4.62 

Fiberglass 1.00 75% $1.47 

Corrugated Polycarbonate 1.20 75% $1.68 

Polyethylene 1.15 65% $0.34 

Polyethylene, Double Layer 0.70 60% $0.68 

Polycarbonate Bi-Wall 0.65 60% $2.09 

Acrylic Bi-Wall 0.65 60% $2.44 

IR Film 1.00 65% $2.06 

 

A. Glass, Double Layer 

B. Acrylic Bi-Wall 

C. Corrugated Polycarbonate 

D. Polyethylene, Double Layer 

 

 

6. A nursery has acquired three large cylindrical containers measuring 4 feet wide at the base and 

8 feet tall. Using the information provided below, how many total gallons of liquid could be 

stored in these three containers (rounded to nearest gallon)? 

 

A. 301 gallons 

B. 2,255 gallons 

C. 752 gallons 

D. 711 gallons 

 

 

 

 



7. A greenhouse worker is planning to mix Osmocote in a batch of potting media but cannot find 

the graduated measuring cup or weight scale. A fellow worker suggests using a 3 ½” plastic pot 

to measure out the needed quantity and provides the chart below for reference. With a suggested 

rate of 6 pounds of Osmocote per batch, how many 3 ½” pots filled with Osmocote would equal 

the needed amount for the batch of potting media? 

 

A. 4 

B. 6 

C. 8 

D. 10 

 

8. A florist is preparing a bouquet of flowers for Valentine’s Day. The customer has ordered the 

“Sweetheart Special” – a dozen red roses with baby’s breath and leatherleaf fern cuttings. This 

shop calculates the total retail cost of arrangements by adding up the wholesale cost of materials 

and multiplying by 3 to cover retail markup and labor. What would be the total cost to the customer 

(rounded to nearest whole dollar)? 

Quantity Material Wholesale Price per Unit 

12 Red Rose $1.09 

6 Baby’s Breath Stems $0.59 

4 Leatherleaf Fern Stems $0.79 

1 #9 Satin Ribbon $0.79 

1 Floral Tape $0.25 

1 Vase $4.99 

1 Enclosure Card $0.20 

 

A. $26 

B. $78 

C. $52 

D. $68 



9. A greenhouse worker is mixing four backpack sprayers that are 5 gallons each to treat a whitefly 

infestation. Given the information from the label provided below, how many total ounces of 

Decathlon will be used for the 20 gallons she is mixing (rounded to nearest one hundredth)? 

   

A. 1.9 oz 

B. 0.095 oz 

C. 0.475 oz 

D. 0.38 oz 

 

10. A producer is planning to order 3,000 plugs of Coleus. What is the total price for this number 

of plugs and what is the earliest week the order can be arranged for delivery? 

 

A. $1,974 - arranged for week 12 

B. $1,974 – arranged for week 11 

C. $1,365 – arranged for week 7 

D. $2,499 – arranged for week 12 

Current Availability 



 


